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your answers.
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graph has 100 vertices, all of d@J\' then how nn




Q1€ recurrence relation

«

Gp = 2ap_; + An—2

2,a; = 2. Show all your work.




placed on a square of side length 3 feet. Prove that there
V/2 feet from each other. Show all your u ork.
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points) Consider the following weighted graph:

ose you want to use Dijkstra’s algorithm to find the length of the shortest path from
Write down the initialization and the first two iterations of the algorithm. (You do
to complete the whole algorithm.) At each step, write down if f is in T, what
node, what is the new set of unvisited vertices T, then which nodes change
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the visited labels at each step (the ones not in T'), and write down the
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current node:
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